ohe A 1/ m )/ n D T, x O] gL Ftolel.




S 13 2] HPAPHE ABCD o4 AC // EF ©]2 AAED = 100cm?
2w, AACF o] WOl Fstofet. (T, Dol Aeaih)

A D




© AL=CL

® AAOL = ACOL




\ -z
: 6

1emn-&¢€//m//n
Jtola

A

I S 0 )
[e]

=

A ol Al
o x o] gk

& 1%
R

4. o

/

\




ohe AN 1 J/m [/nol A4 ACS A4 DF7} B

o]
=

@® 26 @ 27 ® 28 @ 29 ® 30

o}, xy



6. 29 HPAHY ABCD oA A E, F= 22 BC, DC 9] 534 o]},
2 ol o
A -

OABCD = 80cm? ¥ ©], AAEF 9] Ho] & ¢fure 7109
D
F
B~ E +—/C
@ 10 (cm?) @ 20 (cm?) ® 30 (cm?)



7.

oS I A O = AABC 9 eAlo|t}, o8 & 27]

® s0OAD = /OBD @ AOAD = AOBD

® AD=BD @ AOCF = AOCE

® OA=0B=0C




e 2HolA ¢/ /m//n D W, x 2] ZEo] BE=A AR]o]7] 227




ok I-A ¢//m//n, AP : PC’' =3 : 4
A o, x,y o] dol=?

® x=5y=6 @xzfi,yz;
16 14
@x—5,y—§ @x—ﬁ,y—g




10. oh& 293t 2ol Y

— Yy ()
HeEH=E F,

A D
G

® 20cm? @ 40cm? ® 60cm?

@ 80cm? ® 100 cm?

_q]



11. I™-9A H 0 & AABC 9] ¢J4o|t}t. L/OAB = 10°, ZOBC = 30°
d o, /OAC & A27])=?

O 40° @ 45° ® 50° @ 55° ® 60°



12. v+ F I3 ¥4 gle 427
A
D B

@O AB:AD=AC:AE @ AC:AE=BC:DE
® AB:AD=BC:DE @ AD:DB = AE :EC

® AB:AE=AC:BC



13. o2 281/ m//nola, AP:PC=2:3 L W], x+y 2] 222

Ar N
6’ '\4
//B = P I, B/ m
2
\
/ \C/
7C I

@® 11 @ 13 ® 15 @ 17 ® 19



14. o8 189 PPAEE ABCD oA AC // EF ©]1 AAED 9] Ho]7}
20cm? ¥ o], AACF 9] Yol|=?

A D

E

B

@ 16cm? @ 18cm? @ 20cm?

@ 22cm? ® 24cm?



15.

o2 294 H O = AABC 9] @4t} ZABO + £/ACO 9] 27]

9

A

O 40° @ 45° @ 50° @ 55° ® 60°



